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1.8 A1 B 38 O #f B
(1) TIHOME
I 5 X I&
= - 1)) UBEMKX &1t FEZ7IHILTIE FHihX
£ i
Fr & i WOBRFHHKRF/NE1978D6
ES i ft2T% EBEH 567 A
FEHLEL HTASH2 L, RYUTIRRBE. BR
= 2 EEHI &1t LEHEE  EE%
27-2 BRARESHEER 2K 2%
B E R & 271 BXECAKS 15 15
331 fMEERIGHEER 635 63
(FE B - /| 33-n BB 134 134
33-= BHENEEES 125 125
o B )| 33 BRHRKERESR 275 27H
33-0  JKEHEER 22% 22%
46-1  JKEMEER KPS 3
46-0  AiBHEES 15 1%
46-= BHRE SRR 105 10
74 WFRMERKNEEE 15 15
74 KDNE R 15 15
D41 ERDRRK R 15 15
11041 FRDBEENEER 15 15
154 BEHRESMRGE (15)y) musgo—® 15 15
15-0 BRECAMRG(T5YY) womzo—w 15 15
1605 0% 0% 160%
¥ ok B|®%F (ZED 524127 & K (ZEERD 62,011.7
(EEH) 52,463.7 (EE%) 62,075.7
m°’ ~H m?’ -8
(Z&HAFD | (EEE) (1)
HEKERD HekE (m°/8) 62011.7|  62075.7 64.00
cCoD&fr= (keg/BH) 852.36 853.00 0.64
a8 W = SSE&f=E (keg/H) 810.05 810.05 0.00
T—N&#= (ke/H) 578.04 578.95 0.91
n #E E T—PERE (kg/BH) 7.37 717 -0.20
Y43V AR E(e-TEQ/R) 369.8 369.8 0.00
BE Kk A0 I | RTALERREER GEMSFIRE) 15
R MIBEE GEMHIFIREX) 15
MR OBEE| IFSERKLIEEE GEEEIRZX) 15
R0 8
B U | FREMFE 15
EERREREKLEBEE 45




(2) HERRORE (XE) DEHRUHE
FERRDHE (KE) [ETHYFEE A,

() HKAIZHITHHHKDFRRERVENBD (EST) DIHEIFER
FETIANITHICFREFIRMBM THEZRSL. IBFBEFIRBM THEMSHH
SNHEEHEKIINo13HEAKOIZHH L THET AN, No13HEKOIZZEHEI D HTET DREA
71 BIEDFEHRMERTEL TS A, FEHKDBHZEN138E KO M 5No3EEK A
~EEL, BB}t EBLTHETEDSLIICLET,

"E2FMOV12TH(IERELTHYF T FIEBIOAB)ZEZMEICEYSABRIEREIZE
HLET . CNITHVFET7IALTEAMREAOFEEOHKEZRELELS:,

NO.3#E7k O EEAI EHEZ =H 1R
HekeE 45084.9 452459 1610 m*/H =)l
CODEfIE 716.39 719.08 2.69 kg/H N
CODEE 15.89 15.89 0.00 mg/L EThHhod
EXREWE 518.48 520.42 1.94 kg/ B #ho
EREE 11.50 11.50 0.00 mg/L Thind
IHERE 6.31 6.33 0.02 kg/ B 0
Vi R 0.140 0.140 0.00 mg/L Thind
NO.5#E7k 0 EEAI EHEZK =H5 1R
HekE 10251.6 10262.6 11.0 m°/H 0
CODEE 117.39 117.50 0.11 ke/ B 0
CODEE 11.451 11.450 -0.001 mg/L B
EZEXREF[E 51.26 51.31 0.05 kg/ B #ho
ERERE 5.0 5.0 0.0 mg/L Thind
ey =Rig— 0.51 0.51 0.00 kg/H EhHhod
ViR R 0.05 0.05 0.00 mg/L rThind
NO.1#E7k B EEAI EHEZ =2 1R
HekeE 6567.2 6567.2 00 m*/H Ehid
CODE&TIE 16.42 16.42 0.00 kg/H EHnd
CODEE 25 25 0.0 mg/L EThHhod
EXRETE 7.22 7.22 0.00 kg/H EhHhid
ERERE 1.1 1.1 0.0 mg/L Thind
ey =Rig-— 0.33 0.33 0.00 ke/ B EhHhid
ViR R 0.05 0.05 0.00 mg/L rThind
NO.13#E/k O ZEAI] ETEZ =H =i
HekE 108.0 0.0 -108.0 m°/H Pt
COD&R=E 2.16 0.00 -2.16 kg/ B pERd
CODEE 20.0 0.0 -20.0 mg/L B
EREAWE 1.08 0.00 -1.08 ke/H P
BERRE 10.0 0.0 -10.0 mg/L PETR
ey =Rig-— 0.22 0.00 -0.22 kg/ B e
o ptid 2.00 0.00 -2.00 mg/L P
&t EEAI EHEZ =5 1
HekE 62011.7 62075.7 64.0 m°/H 0
COD&RIE 852.36 853.00 0.64 kg/H N
CODEE 13.7 13.7 0.0 mg/L EThHhod
EXREWE 578.04 578.95 0.91 kg/H #ho
EREE 9.3 9.3 0.0 mg/L Thind
BHRmE 7.37 7.17 -0.20 ke/ B B
ViR R 0.12 0.12 0.00 mg/L Thind

) AFEke/B)=-RAHKEMY/B) X BEIKE(mg/L) X 10-3




2. BITRAEAFFE1EOREICETSEIE
(1) TIHZRIFBFRENSOHKRBEVICTIERIEEXZOHKODLER UL
7 HkODkE FHE 1 ROERY

1 HKODH (R IARTIEREKDH)

(A 10AFRIFFRKDH)

ZEH]

EE®
v BEKRFERVKRREDEEER

13
13

HET
Lzl

NMTE 2 HOEBY

(5l )
OOIRE—x X HKNEHEZR N1 HKO->AAN-HEFRNE(OQOE)
ATEHEK
A A K No.24E7K A
(2) IHXIFBXRSZOHKODELDAHAKBIZTOVWTESHoNTNSKEFTEHIZRIREE
HEZOMKEFEICHRIRERELOBEFICETLIEIER
7 KEFEIRIRERE
(7) NDEEICRIREREE

- REIE o

s= K N A\ /\1ﬁ RS 7'}#“/ > — “/7|:||:|
£ | 0.003 BmHE 0.01 0.02 0.01 0.0005 #®RHE HHES 0.02
# mg/L y (AR mg/L me/L mg/L me/L niLy | gy mg/L
[l LIF & LIF LIF LIF T & _& LIF
YA-1,2- 11,1- 1.1.2- =

migit  12-v9 11 0 a MpOR FhI400 | 1.3-V%

IEH s . . ovynon | Myon Jlulal . . o 5

K% AAI4Y  AAIFLY TFLY 4y 4y IFLY  IFLY An7°'0A"y
H 0.002 0.004 0.1 0.04 1 0.006 0.01 0.01 0.002
# mg/L mg/L mg/L mg/L mg/L mg/L mg/L mg/L mg/L
[l LT LI LIF LIF LIF LIF LIF LI LIF

oo, | TANVAL HEBIEEER | 40

BE| 7954 45 TAYH AvEY £ L Y E3%  SoR RUEEE 1’4;? ¥
h-7) 2 % -
H 0.006 0.003 0.02 0.01 0.01 1 0.8 10 0.05
# mg/L mg/L mg/L mg/L mg/L mg/L mg/L mg/L mg/L
B LIF LIF LIF LIF LIF LIF LIF LI LIF




() £EFRFICHRIRERE

B e A - BiE 4

FE-/NEF B

IRIERES ubD—11 UbD—12
IRIFEEER c.II Cc.Im
KFEATVEE(PH) 70 ~ 83 70 ~ 83
E'-WI:?EE&?E%?R(BOD)M/L _ _
= =
B EEKRKE (COD) me/lL 8LITF 8LITF
;E’i ¥ % B = (SS)mgl — —
A B B £ =2 (DO )mel 2Lk 2Ll E
=] 3 1 — _
i& N i ] # CFU/100mL
n—/\#ﬂ;#ﬂatt'.%é' me/L _ _
==
e = = mg/L 06LLTF 06LLTF
= o mg/L  0.05LLF 0.05LLF

1 ZTOMDKEFHICFIRERELDBER




Q) IHEXIEIEFRSOEHKOIZE THHHKDFRREOREDERVEADEILEVIC 2 5%H
HAKDTBEYDBENDERVERDELVICLZHLKDOFTHETE

(1/2)
ek O X 4 L) YN RE(EH) & BRED
FEEXIE
R B BB AXAGEE HB  AXAREE W

kg m¥/H 41,4167 45,084.9 415467 452459
KIRAA RE 160 ~ T8l ~
(pH) ' '

9 9
£ W1 2RI . _ _ _ _ _ _
M -
;E%MM?E%D) 15.9 440 716.39 15.9 440 719.08 +2.69
m REE
'*’E%ﬁis) 16.0 25.0 721.79 16.0 25.0 723.41 +1.62
E3 E(T_Eﬁ) 115 53.0 518.48 115 53.0 520.42 +1.94
3 (T_'J@E) 0.14 0.3 6.31 0.14 0.3 6.33 +0.02
BAX X458 8.2 10.0 369.81 8.2 10.0 369.81 +0.00
HkE m/8 9,538.8 10,251.6 95478 10,262.6
KEAARE 25° . 150~

(pH) ' '

9 9

£ WL F IR _ _ _ _ _ _ _
NosHkn =K (BOD)

H )
;'é%m”%f%m 115 450 117.39 11.4 450 117.500 +0.11
’ﬁéﬁ%gis) 5.9 25.0 60.37 5.9 25.0 60.37 +0.00
3 3(55) 5.0 50.0 51.26 5.0 50.0 51.31 +0.05
E3 (T_'kﬁ) 0.05 0.3 0.51 0.05 0.3 0.51 +0.00

¥ BfiEke/B)=&KHKEMS3/B) x BEKE(mg/L)x 10-3

_5_2_




Q) IHEXIEIEFRSOEHKOIZE THHHKDFRREOREDERVEADEILEVIC 2 5%H
HAKDTBEYDBENDERVERDELVICLZHLKDOFTHETE

(2/2)
ek O X 49 L] 1K RE(EHR)® BRED
EEXIX X D
R B BRE XABEEE BE A8 ® B8 M

HKkE m/B8 1,369.2  6,567.2 1,369.2  6,567.2
KEAFRE L L
(pH) 9 9
YL ES _ _ _ _ _ _ _
No.1#hk FERE(BOD)
LB RE
R (COD) 25 5.0 16.42 25 5.0 16.42 +0.00
EEEWE%S) 4.0 25.0 26.27 4.0 25.0 26.27 +0.00
® B =
(T-N) 1.1 4.0 7.22 1.1 4.0 7.22 +0.00
% o
(T—p) 0.05 0.1 0.33 0.05 0.1 0.33 +0.00
HkE m/8 88.0 108.0 0.0 0.0
KEAA B % _ _
(pH) 8
EWI:EE’JE& _ _ _ _ _ _ _
No.13HEskC =K & (BOD)
(BIRIEZF |
EREFNotl ;E;E"]Mfi% 20.0 40.0 2.16 — — 0.00 -2.16
gko) RE D)
FHEYEE _ _ _
(SS) 15.0 25.0 1.62 0.00 1.62
® B = _ _ _
(T-N) 10.0 20.0 1.08 0.00 1.08
S 1% _ _ _
(T—p) 2.00 4.0 0.22 0.00 0.22
X BAfEke/B)=mAXHKEMI3/BH) X BEEKE(mg/L)x 10-3

_6_2_




(4) BAAERKEDOKEDEREVHHKDBEHICHEWF RSN IBA DA HAKEDKENE

LDREE
A
BKHEE | #REABIEEFHRERNEL4— SWEHEE |2REAIIZEFHESERT 54—
B E R & A—1(r”3) [iEEBEE]
gk R BRUBME _FT pgeo e ©OP S TR TP PO
E1E 118188 =B 18.7 8.0 1.9 3.0 030  0.037 7.2
1085184 b B 19.1 8.1 1.9 4.0 024  0.034 7.1
FimD A : i i K E 18.9 8.1 1.9 35 027  0.036 7.2
o 1"MA1BE & X B 18.4 8.1 2.3 40 025 0.039 7.1
136520 @D & B 19.0 8.1 1.9 4.0 025 0.037 6.6
Fi#ED Al TIFE BHOE B 18.7 8.1 2.1 4.0 0.25  0.038 6.9
3 1AL R X B 18.5 8.1 2.3 6.0 031  0.040 7.9
1685094 b B 19.3 8.1 2.2 6.0 029  0.038 7.7
FiED A FiE F 1y 18.9 8.1 2.3 6.0 030  0.039 7.8
@ F 3] 18.8 8.1 2.1 45 027 0038 73
= ¥ K =1 2.5 4.6 0.63  0.036
B E R & A—2(2r73) [iBiEBEEEY]
maaABruEm B8 pee e 0 S TN TEPO
E1E 118188 =B 18.7 8.1 1.8 4.0 0.15  0.028 7.0
1085145 b B 19.2 8.1 1.9 5.0 0.18  0.033 7.5
FimD A : i i K E 19.0 8.1 1.9 45 0.17  0.031 7.3
o 1MA1BE & x B 18.0 8.1 2.1 6.0 0.17  0.033 6.1
1385159 @ & B 18.6 8.1 2.1 6.0 0.17  0.037 5.6
FiED A TIFE BHOE B 18.3 8.1 2.1 6.0 0.17  0.035 5.9
3 "MA1AE R X B 175 8.1 2.2 5.0 030 0.048 8.1
1685184 b B 185 8.1 2.3 6.0 027  0.044 8.3
FimD A : FiE F 1y 18.0 8.1 2.3 5.5 029  0.046 8.2
@ F 1 18.4 8.1 2.1 5.3 021  0.037 7.1
= ¥ K =1 2.1 4.3 0.30  0.033




B E R & A—3( r R EEBER]
mAaaABruEm B8 gee e 0 % TN TEDO
E10E 11A18H x B 18.2 8.1 1.7 3.0 0.14  0.028 6.9
1085114 b B 18.7 8.1 1.9 5.0 0.15  0.029 7.2
FimD A : i i K E 18.5 8.1 1.8 4.0 0.15  0.029 7.1
E20m 1MA1BE & % B 17.9 8.1 1.8 40 0.15  0.029 7.4
1365365 @D & B 18.6 8.1 1.8 4.0 0.15  0.028 7.2
FiED A TIFE BHOE B 18.3 8.1 1.8 4.0 0.15  0.029 7.3
E30E 1A R X B 175 8.1 2.2 4.0 025 0.038 7.7
1685309 b B 18.3 8.1 2.2 5.0 026  0.040 7.9
FimD A : FiE F 1y 17.9 8.1 2.2 45 026  0.039 7.8
@ F 1 18.2 8.1 1.9 4.2 0.18  0.032 7.4
= ¥ K =1 1.9 4.2 0.18  0.032




(4) BDAHAKEOKEDTEREVHHKOHHITHWFASNIEDALAKEDKEDE
EDIEE

7 & #H

B S |#REABNsETRRERALL Y- SHEE  [FREAFTIZETHRRERM 52—

B E R & B—1(r.”3) [iEEB5EE]
_ i cob ss T-N TP DO
RAEABRUEM BE KEC) pH mgl) gD gD (me/) (me/L)
%10 11A18H £ B 187 8.1 23 40 032 0035 68
9R%59% B 19.5 8.1 2.1 4.0 0.28  0.036 7.3
FHDH: K FE 15 191 8.1 22 40 03 00 7.1
Zom 11A1BE B % B 185 8.1 18 40 024 0034 74
1385065 O B 192 8.1 20 50 026 0039 60
FiED A TIFE WY 18.9 8.1 1.9 4.5 0.3 0.0 6.7
%3 118188 R X B 183 8.1 23 50 030 0038 76
1685045 B 19.3 8.1 2.1 5.0 0.33  0.040 7.6
FHDH: T F oty 188 8.1 22 50 03 00 76
@ F # 189 8.1 2.1 45 029 0037 71
= ¥ K =1 2.6 5.6 0.64  0.036
B E R & B—2(2r./3) [iEEBEE]
RKkERRRUEMR zﬁlﬁg KECC)  pH C(?E/L) S(Smg/L) T(_n':lg/L) T(_nF:g/L) D(?ng/L)
F10E 11A18H B 187 8 19 20 017 0028 68
1085025 B @ q90 8 17 30 015 0027 7.1
FHDH: K E 5 189 8. 18 25 02 00 70
20 11A18E B X B 175 g 20 50 015 0030 63
13F115> O BB g9 g 19 50 016 0.03 6.8
Fi#ED Al TIFE BT 17.9 8.1 2.0 5.0 0.2 0.0 6.6
#3mE 1MA18E R X B 175 g1 2.1 40 026 0043 80
1685135 B @ g6 8.1 24 40 026 0042 8.1
FHDH: T F oy 181 8.1 23 40 03 00 81
@ F # 183 8.1 20 38 019 0034 72
= ¥ K =1 2.1 5.3 0.30  0.033




B E R & B—3( r Him4ME) [EEBEE]
MA%®ABRUHM BT KACO oH oD /D) e/l mgL) - omg/L)
1[0 11A18H ® B 18.5 8.1 18 5.0 0.15  0.028 7.4
1085074 B 19.0 8.1 2.0 8.0 0.16  0.029 75
FimD A : i i K E By 18.8 8.1 1.9 6.5 0.16  0.029 75
E20m 1MA1BE B X B 17.6 8.1 18 4.0 0.16  0.031 6.6
130527 @ & B 185 8.1 2.1 5.0 0.17  0.034 6.4
Fi#ED Al TIFE BT 18.1 8.1 2.0 4.5 0.17  0.033 6.5
F3[0] 1MA1BE R & B 17.3 8.1 2.1 4.0 026  0.037 7.9
1685235 B 18.4 8.1 2.1 5.0 025  0.035 0.0
FiED A Fi# F 1y 17.9 8.1 2.1 45 026  0.036 40
@ oo 14 18.2 8.1 2.0 5.2 0.19  0.032 6.0
= ¥ K =1 2.0 5.2 0.19  0.032

7-4




(4) BAAERKEDOKEDEREVHHKDBEHICHEWF RSN IBA DA HAKEDKENE

IEDIEE
7 B =
BKHEE |z A 2EFREEESts—| 2FHEE  [FREAZTNZEFHERER T 2—
Bl EF R 4 C—1(r.”3)[iBEBEE]
- . EHE e coD  SS T-N TP DO
RAKFEABRUER 57 KEC pH ") (mg/l) (mg/) (mg/L) (me/L)
%=1 @ 118188 £ B 200 8.1 2.0 40 038 0036 6.6
9B%56 %> =a = 20.5 8.1 2.1 4.0 0.37 0.038 7.0
FEOR: K T 203 8.1 2.1 40 038 0037 6.8
%2 11A18A B & B 202 8.1 2.2 60 062 0035 49
1385029 @ th B 213 8.1 2.4 70 065 0040 6.1
FiED R TIFid [ E B 20.8 8.1 2.3 6.5 0.64 0038 5.5
%=3Mm 11A18A R & B 205 8.1 2.2 50 044 0033 7.2
1585594 =a gy = 20.0 8.1 2.2 5.0 045  0.035 7.6
FHEDR- 58 T 203 8.1 2.2 50 045 0034 7.4
0 o 1 20.4 8.1 2.2 52 049 0036 6.6
= >3 7K =1 2.8 5.1 0.85  0.039
Bl EF R 4 C—2(2r/3) [iBEBEE]
- . BE  we cob |ss T-N TP DO
RKEARBRUER N7 KB pH  "(g/) (mg/L) (mg/L) (mg/L) (mg/L)
F1E 11A18H ®E 470 8.1 19 30 028 0034 7.0
9FFB27 R B g7 8.1 23 30 026 0033 7.2
FEOR: B K T 181 8.1 2.1 30 027 0034 7.1
F20 1A1BE " X ® 192 81 21 40 045 0032 52
1265585 O H & 09 8.1 2.1 40 053 0033 6.6
FiED R TIFid [ E B 19.7 8.1 2.1 40 049 0033 5.9
3E NMA1BA & XE 0 8.1 23 50 047 0037 75
156¥455  H B 505 8.1 2.4 50 047 0036 7.4
FHEDR- 58 T #0203 8.1 2.4 50 047 0037 73
0 o 1 19.3 8.1 2.2 40 041 0034 6.8
= X 7K = 2.4 48 052  0.036




B E R & C—3( r #msiE) [EEBEE]
MA%®ABRUHM BT KACO oH oD /D) e/l mgL) - omg/L)
1[0 11A18H = B 18.6 8.1 2.2 4.0 0.37  0.040 7.0
9RF48%5> B 19.2 8.1 2.3 5.0 0.27  0.038 7.2
FimD A : i i K B 18.9 8.1 2.3 45 0.32 0.0 7.1
E20m 1MA1BE B X B 20.0 8.1 2.1 5.0 058  0.036 6.9
1265545 @ H B 20.1 8.1 2.3 4.0 051  0.033 6.0
Fi#ED Al TIFE BT 20.1 8.1 2.2 4.5 0.55  0.035 6.5
FE3[E 1MA18A R & B 19.5 8.1 2.4 5.0 0.44  0.033 75
1585405 B 19.5 8.1 2.3 5.0 031  0.032 7.9
FiED A Fi# F 1y 19.5 8.1 2.4 5.0 038  0.033 7.7
@ oo 14 19.5 8.1 2.3 4.7 041 0035 7.1
= ¥ K =1 2.3 4.7 0.41  0.035

7-6 -
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Y7 EOMHEKEICETSEE
TL

(5) HEBHEERUTIOHZE
7 ERAHEQEMOEE (GE:2
(=L, FBAKEOEMALNES L. AU TFRFEKTS,)
1 BHKOAFRAKETOR EEH

R RIEY
v FROFGE
7) B

(1) AKX (Log (r260 72 )=1.226 LogQ+0.086 )Hh 53R H1-[E3

DHKBONGETDERE(r)(E. 1271 mTY,

0= 1134 LR A E
Q= 62075.7 m°’ /B ( KHKE )
r= 1271 m



@ A—ET7-EUrF—AK{C=1—exp( — GQ—;’ID( 1—X—1—L )}
MOROE=FRE(C)HIERDESYTT,
C(r/3 MHhm) = 0.049
CQ2r/3Mithm) = 0.012
C(r Oithg) = 0.000
(F) Q.= 620757 m’ /B ZAHLHE )
6= 1134 ILENAE
d= 2m
p= 864 m.”H
r 2r/3 r/3 DR (m)
x= 1271.0 847.3 423.7
L= 1271 m (rEEEE )

(3) S =S, 4+ (S;—S, ) CHio[FEDKEEZFRITS,

So= Bk O DHIKRE
S\ = rith KB REEAIE
@ At

Al (r/ 3D Im
S’ (coDh)= 194 ( 137 - 19) -00486 = 2.508
S’ (8s )= 42 + ( 130 - 42) 00486 = 4.599
S (T—N)= 018+ (93 - 0.18) 00486 = 0.628
S (T—P)= 0032 + ( 012 - 0032) 00486 = 0.036
A2 (2r/3MHhsE )
S’ (coDh)= 194+ ( 137 - 19) 00124 = 2.080
S’ (88 )= 42 + (130 - 42) 00124 = 4.277
S (T—N)= 018+ (93 - 0.18) -00124 = 0.297
S (T—P)= 0032 + ( 012 - 0032) 00124 = 0.033
A3 ( r ODHhE)
S’ (coDh)= 19+ ( 137 - 19) 00000 = 1.933
S’ (88 )= 42 + ( 130 - 42) 00000 = 4.167
S (T—N)= 018+ (93 - 0.18) -00000 = 0.183
S (T—P)= 0032 + ( 012 - 0032) 00000 = 0.032



@ Bt &
B1 (r./ 30k ) 424m

S’ (CcoD)= 204+ ( 137 - 20) - 0049 = 2.555
S (8s)= 524+ ( 130 - 52) . 0049 = 5.550
S (T-N)= 0.19 + ( 93 - 0.19) .- 0049 = 0.636
S (T—-P)= 0032 + (012 - 0032) . 0049 = 0.036
B2 (2r./3Mi#hr 847m
S’ (CcoD)= 20+ ( 137 - 20) - 0012 = 2.129
S" (8S )= 52+ ( 130 - 52) . 0012 = 5.264
S (T-N)= 0.19 + ( 93 . 019) - 0012 = 0.305
S (T—-P)= 0032 + (012 - 0032) - 0012 = 0.033
B3( r Mg ) 1271m
S’ (CcoD)= 20+ ( 137 - 20) - 0000 = 1.983
S" (8S )= 52+ ( 130 - 52) - 0000 = 5.167
S (T-N)= 0.19 + ( 93 - 019) - 0000 = 0.192
S (T—-P)= 0032 + ( 012 - 0032) . 0000 = 0.032
@ Ciths

Cl (r/3MihE ;424m
S’ (CcoD)= 23 +( 137 - 23) .0049 = 2.825
S" (8S )= 47 +( 130 - 47) .0049 = 5.074
S (T-N)= 041 + (93 - 041) -0049 = 0.847
S (T—-P)= 0035 + ( 012 -0035) - 0049 = 0.039
C2 (2r./3MHh s 847m
S’ (CcoD)= 23 +( 137 - 23) .0012 = 2.409
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QGR=E) |60 (AE)| r(m)
No. 3 45084.9 3.14 628
No. 5 10251.6 1.57 358
No. 1 6567.2
frEHEK 61903.7 1.134 1269
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No. 5 10262.6 1.57 358 0
No. 1 6567.2
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